Y2 - Spring — Block 2 - 13 — The 10 times-table Answ Y2 — Spring — Block 2 — Step 14 — Divide by 10 Answers

Question Answer

6x10=60
There are 60 cookies.

Question Answer

There are 60 crayons.

There are 10 crayons in each pack.
60 -10=6

6 packs can be made.

a) 4x10=40
b) 7x10=70
c¢) 10 x 10=100
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b)
[10 tmes tabe | 5 tmes table | | 1 times tabe | 10% 5 = 50
The numbers are going up in 10s. 50+10=5
50+5=10
a) 20
b) 70 a) 7
c) 40 b) 8
d) 11
c) 1
e 8 d)}z
100
2} e) 60
h) f) 90

40=10=4 or 40+4=10
4xX10=40 or 10x4=40

Kim’s gran is 70 years old.

100 =~ 10=10
Jo can fill 10 pages.

Ron has 4p. Sam has 8p.
Max has 20p. Jo has 80p.
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Question Answer

a) Question Answer
I I I ' I a) counters circled in 6 groups of 5
b) There are 5 counters in each group.
0O000 There are 6 groups.
2x5 30+5=6
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There are 15 sweets.

There are 5 party bags.

There are 3 sweets in each bag.
15+=5=3
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a) 4x5=20
20-5=4
b) 8x5=40
40+5=38

b) child’s drawing showing 4 % 5, e.g. array of 4 rows of 5 counters
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The numbers go up in 5s.

a) 25

b) 45 45 +5=9
¢) 30

d) 8

e) 7
f)] 55
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10 x Sp = 50p
Ron has 50p.
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lack spends £25 in total.




